HARDI ENDURANCE X-BASE TABLE
INSTALLATION INSTRUCTIONS

You will need:

CORTEC

Not Included:

Pencil Drill

For Marking Floor With 3/8” Masonry Bit
Included:

o

=/
=
20x 20x
5/16" Washer 5/16”" - 18 x 2.5”
.344” 1D .75” 0D Security Torx Bolts

1x

Screwdriver
With Tamper Resistant Torx Bit

Plastic Leg

20x

3/8”-16x4"
Tamper Resistant Torx Screw

-

Table Top
Alternative Size & Shapes Available

20x

3/8” Flat Washer
.406“ 1D .875” 0D




HARDI ENDURANCE X-BASE TABLE
INSTALLATION INSTRUCTIONS

1.

2X

Drill through holes into the 10 bolt locations on the top of one of the leg pieces. Flip the leg over and drill through
holes into the 10 bolt locations on the bottom of the leg. Repeat this process for the second leg.

3.

Flip table top over. Place assembled legs into pocket on bottom side of table top.
Insert and tighten each table top screw 3-5 turns past finger tight.

SpecC x CORTEC

Turn over table, Position table in desired location. Using a pen or pencil, mark the leg mounting location onto
the floor. Drill holes in the locations where you marked the center of the floor mount hole. Hole depth should
be 2.0” deep MINIMUM. Install concrete anchor and bolt to table to floor.



Spec x CORTEC
HARDI ENDURANCE CYLINDER-BASE TABLE
BALLASTING INSTRUCTIONS

Not Included: Included:

1x

Screwdriver
With Tamper Resistant Torx Bit

1x

) Ballast Port Door 42” Round Table Top
Cylinder table base

\ %
Weighted Ballasts
4x 4x 4x
5/16” Washer 5/16”-18x 3" Ballast Port Door Screws
.344” 1D .75” 0D Security Torx Bolts




Spec x CORTEC
HARDI ENDURANCE CYLINDER-BASE TABLE
BALLASTING INSTRUCTIONS

Add weighted ballasts into cavity and replace and ballast door and panel screws.
Tighten panel screws 3-5 turns past finger tight.

Align the table base to the center of the table top. Check fitment and make any necessary adjustments. Insert and tighten each table top screw and washer 3-5 turns past finger tight.



Spec x CORTEC
HARDI ENDURANCE CYLINDER-BASE TABLE
INSTALLATION INSTRUCTIONS

Not Included: E
Pencil Drill Screwdriver 3/8”-16x 4" 3/8” Flat Washer
For Marking Floor With 3/8” Masonry Bit With Tamper Resistant Torx Bit Tamper Resistant Torx Screw .406“ ID .875” 0D
Included:

o

4x 4x 1X

5/16” Washer 5/16" - 18 x 3" Cylinder table base 42” Round Table Top
.344” 1D .75" 0D Security Torx Bolts




Spec x CORTEC
HARDI ENDURANCE CYLINDER-BASE TABLE
INSTALLATION INSTRUCTIONS

- o

Place table top face down on the floor. Align the table base to the center of the table top. Insert and tighten each table top screw and washer 3-5 turns past finger tight.
Check fitment and make any necessary adjustments.

Turn over table and position table in desired location. Using a pen or pencil, mark the base mounting location onto Drill holes in the locations where you marked the center of the floor mount hole. Hole depth should
the floor. be 2.0” deep MINIMUM. Install concrete anchor and washer. Bolt the table to floor.



